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Question ID : 98958015491
Status : Answered
Chosen Option : 4
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Question ID : 98958015492
Status : Answered
Chosen Option : 3
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Question ID : 98958015471
Status : Answered
Chosen Option : 4
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Question ID : 98958015479
Status : Answered
Chosen Option : 4
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Question ID : 98958015488

Not Attempted and
Marked For Review

Chosen Option : --

Status :

Q.6 Arrange the following words in a logical and meaningful order.

1. Lustrum

2. Century

3. Year

4. Millennium
5. Decade

Ans  of 131,524
/X 254,321
/X 3.2,1,53,4
/X 4.51,3,2,4

Question ID : 98958015468
Status : Answered
Chosen Option : 1
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Question ID : 98958015490
Status : Answered
Chosen Option : 2
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Question ID : 98958015483
Status : Answered
Chosen Option: 3
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Question ID : 98958015486
Status : Answered
Chosen Option : 4
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Question ID : 98958015477
Status : Answered
Chosen Option : 4
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Question ID : 98958015474
Status : Answered
Chosen Option : 4
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2,4,16,52,132,282,?
Ans  of 1 534
/X 2.527
X 3.512
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Question ID : 98958015484
Status : Answered
Chosen Option: 1
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Question ID : 98958015473

Not Attempted and
Marked For Review

Chosen Option : --

Status:
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Question ID : 98958015475
Status : Answered
Chosen Option : 1
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Question ID : 98958015505
Status : Answered
Chosen Option : 1
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Question ID : 98958015472
Status : Answered
Chosen Option : 2
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Question ID : 98958015501
Status : Answered
Chosen Option : 4
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Question ID : 98958015487
Status : Answered
Chosen Option : 2

Q.19 F=faf@a siae # Fi9-Ht dear usarEs g (7) & 9= w= ergft?
89, 90, 82, 109, 45, ?
Ans  of 1170
X 2.125
/X 3.-80
/X 4.109

Question ID : 98958015506

Not Attempted and
Marked For Review

Chosen Option : --

Status :
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Question ID : 98958015485
Status : Answered
Chosen Option : 4
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Question ID : 98958015478
Status : Answered
Chosen Option: 3
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Question ID :
Status :

Chosen Option :

98958015469

Not Attempted and
Marked For Review

Ans
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Question ID : 98958015500
Status : Answered
Chosen Option : 2
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/X 4.3500
Question ID : 98958015504
Status : Answered
Chosen Option : 2
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Question ID : 98958015489
Status : Answered
Chosen Option : 4

Section : General Awareness
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Question ID : 98958015110
Status : Not Answered
Chosen Option : --
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Question ID : 98958015104
Status : Not Answered
Chosen Option : --
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Question ID : 98958015105
Status : Not Answered
Chosen Option : --
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Question ID : 98958015090




Status : Not Answered
Chosen Option : --
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Question ID : 98958015111
Status : Not Answered
Chosen Option : --
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Question ID : 98958015093
Status : Not Answered
Chosen Option : --

Q.7 SHIfoRTa Gt ZRT T Aereh TS hY TUT0T fRe adf J &y 78 of1?
Ans X" 1.1870
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/X 3.1865
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Question ID : 98958015103
Status : Not Answered
Chosen Option : --
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Question ID : 98958015109
Status : Not Answered
Chosen Option : --
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Question ID : 98958015106
Status : Answered
Chosen Option : 2
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Question ID : 98958015089
Status : Not Answered
Chosen Option : --

Q.11 HgT uTeR wiie fohe 3o # e &2
Ans X 1 siifesm

X 2. wfwg

3.

< 4wy

Question ID : 98958015101
Status : Not Answered
Chosen Option : --
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Question ID : 98958015099
Status : Not Answered
Chosen Option : --
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Question ID : 98958015107
Status : Answered
Chosen Option: 3
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Question ID : 98958015092
Status : Not Answered
Chosen Option : --
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Question ID : 98958015108
Status : Answered
Chosen Option : 1

Q.16 In the field of Information & Communication Technology, what is the full form of EEPROM?

Ans f 1. Electrically Erasable Programmable Read-Only Memory
x 2. Electrically Efficient Programmable Read-Only Memory
x 3. Enhanced Electrical Portable Read-Only Memory

x 4. Electrically Efficient Portable Read-Only Memory

Question ID : 98958015097
Status : Answered
Chosen Option: 1

Q.17 Herts is the Sl unit of:
Ans x 1. Energy
( 2. Frequency
X 3. Pressure

x 4. Force

Question ID : 98958015094
Status : Answered
Chosen Option: 2
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Question ID : 98958015095
Status : Not Answered
Chosen Option : --
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Question ID : 98958015113
Status : Answered
Chosen Option : 4
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Question ID : 98958015091
Status : Not Answered
Chosen Option : --
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Question ID : 98958015098
Status : Answered
Chosen Option: 1
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Question ID : 98958015102
Status : Answered
Chosen Option : 1
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Question ID : 98958015100
Status : Answered
Chosen Option : 2
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Question ID : 98958015112
Status : Not Answered
Chosen Option : --
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Question ID : 98958015096
Status : Not Answered
Chosen Option : --

Section : Quantitative Aptitude
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Question ID : 98958015628
Status : Answered
Chosen Option : 1
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Ans x.l_ 5'\’!5
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Question ID : 98958015630
Status : Answered




l Chosen Option : 4

3 afy e+ p*=110 3k a + b =5% & (a+b)*>—3ab F A &
Ans o1 22

X2 42

X3 32

X 4 52

Question ID : 98958015715
Status : Answered
Chosen Option: 1
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Question ID : 98958015634
Status : Answered
Chosen Option : 2
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2:": 7

Ans X1, 1760
v 21540
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Question ID : 98958015612
Status : Answered
Chosen Option : 2
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Question ID : 98958015631
Status : Answered
Chosen Option : 2

Q.7 v 9T #, TEET F FEEAA T HFTT 5 2 AT HR FABEAHT H FEA 14 Ao o, &
THAT F FEHAT  Fd 9 5 Felr| THET H S5 Flel e B Hol wedr or

Ans - X1.210
v'2 196
X 3 203
X 4126

Question ID : 98958015617
Status : Answered
Chosen Option : 4

Q8 rmwa+b4c=5,3 a2+ b2 +c2=33 ¥ A a®+b* +c*—3abc FT AT FAT §?

A of1.185
x2192
<3195
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Question ID : 98958015623
Status : Answered
Chosen Option : 1

Q.9 3-1?1T40\{§x373\/§y3=(Zv'gxfﬁy)x(szJererCyz] g A VBEECI—A T AT FAT E?
Ans ?fl 9

<28

v 7

X4 11

Question ID : 98958015621




Status : Answered
Chosen Option : 3

Q.10 84 km/h #r =fer & Tt el & x Twlid fewm & 52 km/h #r aifr & alseh gs g@Y &y A 12
¥ F UM FT A g1 T y F oo x F A & Ao 7 e w2

Ans X1 250 m
V2272 m
X3 408 m
X 4242 m

Question ID : 98958015611
Status : Answered
Chosen Option : 2

Q.11 gz AABC~AQPR 3t Ejjjg =2 3 TXAB=12cm BC=6cmdAC =9 cm ¥, & QP
T &

Ans X 1.9 em
<28 cm
v': 16 cm
< 412 cm

Question ID : 98958015716
Status : Answered
Chosen Option : 3

Q.12 AABC &, D W AD L BC ¥ 3 AE /A & Foefaemsis &1 377 < B = 72° ¥R 2 C = 26° ¥, &
¢ DAE & A9 T &7

Ans x1' 3?-:-
< 2 25°
V'3 23°
< 4 49°

Question ID : 98958015626
Status : Answered
Chosen Option: 3
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e+ one ) earoors) T TGS 7R &
Ans X 1. 2sind
V' 2 2cos8
< 3. cosf
X 4 sin@

Question ID : 98958015629
Status : Answered
Chosen Option : 2
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Question ID : 98958015633
Status : Answered
Chosen Option : 2

Q15 v gea #, AB R CD ShaT? ws-g@t A E W #ear §1 3#R CD = 18 cm, DE = 6 cm 3R
AE =18 cm §, & BE = ?

Ans - X' 1.3 em
<26 cm
<3 8 cm
v 4 em

Question ID : 98958015624
Status : Answered
Chosen Option : 4

18 AABC &, £A = 90° ¥1 37K BL 3R CM aifeg=hv &, ar
Ans X1 3(BIX + CM?) = 4B(?

& 2 5(BI? + CM?) = 4BC?

v 2 4(BL* + CM?) = 5B(?

X 4 4(BL*> + CM?) = 3B(?

Question ID : 98958015627

Not Attempted and
Marked For Review

Chosen Option : --

Status :

Q.17 15%9‘Fr‘ra1§rsﬁra?qﬂ'2§ T§ ¥ v 74,096 Fr A W THgfy s FAT g, R ST 10-71fEE
T ¥ HATST T &2

Ans o 1.31,736
< 2 31,763
<3 31,726




< 4 71,636

Question ID : 98958015618
Status : Not Answered
Chosen Option : --

Q.18 A s B v w1y 5 Fa gu ol #71a &7 16 Rt & @ = A £, C A A e 5@ 32 R
# U # wha £, B ik C Fee s 24 RA #F ww = wea §)1 s 12 et aw v my e

foraml &= gu e 1 C I e R F g Fem?

Ans X145
v 2 36
X3 32
X 4 40

Question ID : 98958015610
Status : Not Answered
Chosen Option : --

Q19 37 319l T @ 90% W AT F| I THEAT W 25% TE A § AR I 30% " e, A

0% 399 & fraer gfoea #r 3fe o &2
Ans X 1. 22.5%

X 2 24%

X 3 20%

v 4 255%

Question ID : 98958015615
Status : Answered
Chosen Option : 4

Q.20 e A 3 B # Tagafiet & $o Twwr 96 ¥1 FaT A F RewiEt & dwar B & geer # 40%
Fow 71 7T B F fagmfiat & sfea a9+ (kg #) Faw A & @i & goer # 50% #E &
3R FET A 3T B F malr Temnfiat a7 aftwa 997 58 kg &, o e B ¥ et & sy =

foraeT &2
Ans X1~ 48 kg

< 2 66 kg
'3 72 kg
< 4 60 kg

Question ID : 98958015613
Status : Not Answered
Chosen Option : --
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Ans o 1. BT, T140

< 2 B‘I"I'T?i', 2125
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X 4 gifer, 7130

Question ID : 98958015616
Status : Answered
Chosen Option: 1

Q.22 fzor smav g7 AW (ST M) OfT FIRGT AT FeT@rshiat $r 7T 3 sees #= (et #) e
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Ans jl 89%
<2 9.3%
<3 6%
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Question ID : 98958015632
Status : Answered
Chosen Option : 1

% gfr 3cos?A + Bsin?A = 3,0°=A<90° ¥ ar A # AT &

Ans X‘I 450‘
<2 090°
<3 30°
v g°

Question ID : 98958015717
Status : Answered
Chosen Option : 4

Q.24 T ABCD % 3ieT T& Jray &= = § =T 8¢ AB, BC, CD 3t DA &I %#er: P, Q, R 3t §
oY T ST ¥ T AS = 8 cm, BC = 11 cm, 3T CR = 5 cm &, o AB &I =iars seT &

Ans - X116 em
<213 cm
v': 14 cm
< 412 cm

Question ID : 98958015625
Status : Answered
Chosen Option: 3
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B 0
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Ans X1.21
3
- 1
X 2 45

1
v 2;
- 1
x4. 3;

Question ID : 98958015622
Status : Answered
Chosen Option : 3

Section : English Language

Q.1 Select the correct passive form of the given sentence.

Bill Gates has given away twenty seven percent of his wealth in charity.

Ans x 1. Twenty seven percent of his wealth had been given away by Bill Gates in charity.

x 2. Twenty seven percent of his wealth has given away Bill Gates in charity.
J 3. Twenty seven percent of his wealth has been given away by Bill Gates in charity.

x 4. Bill Gates has been given away by twenty seven percent of his wealth in charity.

Question ID : 98958015343
Status : Answered
Chosen Option : 3

Q.2 Select the most appropriate synonym of the given word.

COMBUSTIBLE
Ans X" 1. unbreakable

x 2. nonexplosive

x 3. fragile

( 4. inflammable

Question ID : 98958015356
Status : Answered
Chosen Option : 4

Q.3 Select the wrongly spelt word.
Ans x 1. emphasis

x 2. emolument

X 3. emporium

“ 4. emmision

Question ID : 98958015364
Status : Answered
Chosen Option : 4




Q.4 Select the most appropriate meaning of the given idiom.
As clear as mud

Ans J 1. impossible to understand
x 2. extremely dirty
X 3. honest and legal

x 4. completely suitable for someone

Question ID : 98958015360
Status : Answered
Chosen Option: 1

Q.5 Given below are four jumbled sentences. Out of the given options pick the one that gives
their correct order.

A. Early on Christmas morning Pip returns to the graveyard with the file, a pie and brandy.
B. On Christmas Eve, Pip, an orphan who is about seven years old, encounters an escaped
convict in the village graveyard.

C. The convict scares Pip into stealing food and a file.

D. Pip, who lives with his elder sister and her husband Joe Gargery, a blacksmith, steals a
file and some food.

Ans " 1.DCAB

/< 2.CBAD
75 3.BDCA
o 4.BCDA

Question ID : 98958015354
Status : Answered
Chosen Option: 1

Q.6 Select the word which means the same as the group of words given.

That which cannot be taken by force
Ans J 1. impregnable

X 2. inapprehensible
x 3. inaccessible
X 4. immutable

Question ID : 98958015362
Status : Answered
Chosen Option : 1

Q.7 Select the most appropriate option to substitute the underlined segment in the given
sentence. If there is no need to substitute it, select No improvement.

The children are too young to sit up a long lecture.
Ans " 1 sit across

J 2. sit through

x 3. No improvement

X 4. sit away

Question ID : 98958015345
Status : Answered
Chosen Option : 2




Q.8

Select the most appropriate word to fill in the blank.

Financial institutions that had their premises in the World Trade Centre were crippled by the
loss of and hardware.

Ans

Ans X 1. person
J 2. personnel
X 3. individual
x 4. group
Question ID : 98958015366
Status : Answered
Chosen Option : 2
Q.9 Select the most appropriate antonym of the given word.
CORROBORATE
Ans X" 1. confirm
( 2. contradict
x 3. approve
X 4. verify
Question ID : 98958015358
Status : Answered
Chosen Option : 2
Q.10 Select the correct indirect form of the given sentence.

| asked the shopkeeper, "What is the price of this bike?"

( 1. | asked the shopkeeper what the price of that bike was.
x 2. | asked the shopkeeper that what the price of this bike was.
X 3. | asked the shopkeeper what is the price of this bike.

x 4. | asked the shopkeeper what was the price of that bike.

Question ID : 98958015344
Status : Answered
Chosen Option : 1

Q.11
Ans

Comprehension:

In the following passage some words have been deleted. Fill in the blanks with the help of the
alternatives given. Select the most appropriate option for each blank.

Bill Gates is the second-richest (1)
billion. His wealth (3)
billion. Gates is (5)
spending $ 1.06 million.

in the world. He is (2) an estimated $ 103
only by Jeff Bezos, (4) has a current net worth of $116
rich that an average American spending $1 is similar to Gates

SubQuestion No : 11
Select the most appropriate option for blank No. 1.
X 1. character

X 2. personnel
X 3. human
( 4. person




Question ID : 98958015348
Status : Answered
Chosen Option : 4

Comprehension:

In the following passage some words have been deleted. Fill in the blanks with the help of the
alternatives given. Select the most appropriate option for each blank.

Bill Gates is the second-richest (1) in the world. He is (2) an estimated $ 103
billion. His wealth (3) only by Jeff Bezos, (4) has a current net worth of $116
billion. Gates is (5) rich that an average American spending $1 is similar to Gates
spending $ 1.06 million.

SubQuestion No : 12
Q.12 Select the most appropriate option for blank No. 2.

Ans x 1. classed

x 2. cost
X 3. valuable
( 4. worth

Question ID : 98958015349
Status : Answered
Chosen Option : 4

Comprehension:

In the following passage some words have been deleted. Fill in the blanks with the help of the
alternatives given. Select the most appropriate option for each blank.

Bill Gates is the second-richest (1) in the world. He is (2) an estimated $ 103
billion. His wealth (3) only by Jeff Bezos, (4) has a current net worth of $116
billion. Gates is (5) rich that an average American spending $1 is similar to Gates
spending $ 1.06 million.

SubQuestion No : 13
Q.13 Select the most appropriate option for blank No. 3.

Ans x 1. is surpassing
( 2. is surpassed
x 3. surpassed

x 4. surpasses

Question ID : 98958015350
Status : Answered
Chosen Option : 2

Comprehension:

In the following passage some words have been deleted. Fill in the blanks with the help of the
alternatives given. Select the most appropriate option for each blank.

Bill Gates is the second-richest (1) in the world. He is (2) an estimated $ 103
billion. His wealth (3) only by Jeff Bezos, (4) has a current net worth of $116
billion. Gates is (5) rich that an average American spending $1 is similar to Gates
spending $ 1.06 million.

SubQuestion No : 14
Q.14 Select the most appropriate option for blank No. 4.

Ans ( 1. who
x 2. whom
25 3. which




X 4. whose

Question ID : 98958015351
Status : Answered
Chosen Option: 1

Comprehension:

In the following passage some words have been deleted. Fill in the blanks with the help of the
alternatives given. Select the most appropriate option for each blank.

Bill Gates is the second-richest (1)
billion. His wealth (3)
billion. Gates is (5)
spending $ 1.06 million.

in the world. He is (2) an estimated $ 103
only by Jeff Bezos, (4) has a current net worth of $116
rich that an average American spending $1 is similar to Gates

SubQuestion No : 15
Q.15 Select the most appropriate option for blank No. 5.

Ans X' 1.as
X 2.100
25 3.such
W 450

Question ID : 98958015352
Status : Answered
Chosen Option : 4

Q.16 Select the most appropriate option to substitute the underlined segment in the given
sentence. If there is no need to substitute it, select No improvement.

| try to avoid travel in the rush hour.
Ans X" 1 to travel at

J 2. travelling in
X 3. travelling on

x 4. No improvement

Question ID : 98958015346
Status : Answered
Chosen Option : 2

Q.17 Select the most appropriate antonym of the given word.

MOROSE
Ans X" 1 sullen

( 2. cheerful

x 3. unsatisfied

X 4. mournful

Question ID : 98958015357
Status : Answered
Chosen Option : 2

Q.18 Select the most appropriate word to fill in the blank.

The thick smoke out of the landfill site is making the city’s polluted air even more
toxic.

Ans




X 1. tossing
75 2. rocking
o 3. billowing
75 4. burning

Question ID : 98958015365
Status : Not Answered
Chosen Option : --

Q.19 In the sentence identify the segment which contains the grammatical error.

The Cannes Film Festival attract some of the world's most famous people.

Ans X 1. The Cannes Film Festival
x 2. most famous people
J 3. attract some of

x 4. the world's

Question ID : 98958015341
Status : Answered
Chosen Option : 3

Q.20 Given below are four jumbled sentences. Out of the given options pick the one that gives
their correct order.

A. In a small town in England, there lived a poor little girl.
B. She was very excited but her right shoe was worn out.

C. So, she went to a cobbler to get it mended.
D. Her friend invited her to come to her birthday party.

Ans  of 1 ADBC

/< 2.ACBD
75 3.DCAB
/< 4.CBAD

Question ID : 98958015353
Status : Answered
Chosen Option: 1

Q.21 Select the most appropriate meaning of the given idiom.

Spill the beans
Ans X" 1. frighten someone

x 2. make an excuse
J 3. reveal a secret

X 4. create difficulty

Question ID : 98958015359
Status : Answered
Chosen Option : 4

Q.22 Select the most appropriate synonym of the given word.

EMBED

Ans &1 pull




( 2. bury
X 3. dig up
x 4.rise

Question ID : 98958015355
Status : Answered
Chosen Option : 2

Q.23 In the sentence identify the segment which contains the grammatical error.

Different-coloured natural foods not only put a smile on children's faces and also benefit
their overall growth.

Ans x 1. Different-coloured natural foods
x 2. put a smile on children’s faces
J 3. and also benefit

x 4. benefit their overall growth

Question ID : 98958015342
Status : Answered
Chosen Option : 3

Q.24 Select the word which means the same as the group of words given.

A large impressive house
Ans J 1. mansion

x 2. shack
X 3. cabin
x 4. fort

Question ID : 98958015361
Status : Answered
Chosen Option: 1

Q.25 Select the wrongly spelt word.
Ans X" 1 booty

x 2. brood
J 3. blosom
x 4. boast

Question ID : 98958015363
Status : Answered
Chosen Option : 3




